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Classical Greek Language

Section I: Vocabulary: Definitions — Choose the best translation of the given Greek word

1.

10.

11.

12.

13.

ypddw
a. write

0LVOC
a. house

tnrnelg
a. horse
Omo

a. over

pAasdLog
a. bright

apa
a. occasionally

£tailpog
a. other

Tl
a. who?

oUUPEpW
a. bring together

ToyUG
a. rough

Hepoc
a. day

apoptia
a. hammer

HOVOC
a. alone

. Carve

. pig

. horseman

. under

. easy

. mostly

.Ssame

. what?

. carry through

. heavy

. shoulder

. martyrdom

. many

. hide

. ointment

. hippo

. soft

. simultaneously

. companion

.when?

. bear in mind

. thick

. worth

. worthlessness

. dull

. weigh

. wine

. king

. outside of

. loud

. bravely

. age

. where?

. win with

. fast

. desire

.sin

. more



14. paivw

a. show b. disappear c. speak d. feign
15. &fjpog
a. house b. clarity c. people d. island
16. €idog
a. sword b. swordfish c. swordsman d. swordsmanship

Section Il: Vocabulary: Synonyms — Choose the best synonym for the given Greek word.

17. iepog

a. latpog b. Gylog c. 6pBoc¢ d. €tepog
18. Aéyw

a. A\aAéw b. opaw c. paivw d. moléw

Section lll: Vocabulary: Antonyms — Choose the best antonym for the given Greek word.

19. péyag

a. LaKpOg b. HKkpOg C. M€oOC d. povocg
20. ayaBog

a. Kovog b. Kowog C. KAKOG d. KaAog

Section IV: Grammar (Morphology & Syntax) — Choose the best answer to the given question.

21. Which of the following forms of the adjective mag would agree with the noun form yuvauéi?
a. maol b. mavtl c. maon d. maocalg

22. Which of the following forms is the correct comparative for the adjective form &gwn?
a. bewotepa b. Sewvovtatn c. Sewotarta d. Sewotépa

23. Which of the following forms of the adjective npwtog agrees with the noun form viicw?
a. IpwToL b. mpwtw C. IpWTN d. mpwtov

24. What use of the infinitive is illustrated in the sentence: “kaAov 10 ypadewv BiBAlov.”?
a. epexegetical b. object c. natural result d. articular

25. The preposition mpd can govern which of the following cases?
a. only dative b. only genitive c. genitive & dative  d. dative & accusative

26. What tense is the verb form pevoiol?
a. present b. imperfect c. future d. aorist



27. Which of the following is the correct contracted form of the verb form vikaet?
a. VIK® b. vikd c. vikan d. vikwn

28. What use of the dative is illustrated in the following sentence: “0mno6 to0 Ourpou
€navOnoav oi otpati@dTal Aoyw.”?
a. means/instrument b. indirect object c. time when d. object of preposition

29. The form ofow is the second principle part (the 1* person, singular, future, active,
indicative) of which of the following verbs?
a. olda b. (nut c. \appavw d. pépw

30. Which of the following forms is equivalent in meaning to i Slwv?
a. nésla b. naAAov ndUC c. Rélotog d. paiwota Rdug

31. Which of the following is the best Greek translation for “The same poet killed her.”?
a. 0 AUTOC oLNTAG 0TV ATIEKTELVE. b. 6 mowNTNC AUTOC AUTHV ATEKTELVE.
c. a0TOG O MOoLNTNC AUTHV ATEKTELVE. d. 6 TOWNTAG QUTAV ATEKTELVE.

32. What are the case and number of the phrase ”t(‘iq €€ Ouoiag”’?
a. genitive singular  b. genitive plural c. accusative plural  d. accusative singular

33. Which of the following is the best English translation for the word mpiv in the sentence:
“€8i6aev ToUG MOAiTaC tpiv AeAOEIV.”?
a. before b. while c. until d. as far as

34, What tense and voice is the participle ADoduevog?
a. aorist passive b. future passive c. future middle d. aorist middle

35. Which of the following is the best English translation for the sentence: “napéAape autov o
KOKOG €1 TAV MOALV.”?

a. He took the bad man into the city. b. The bad man took him into the city.

c. He takes the bad man into the city. d. The bad man takes him into the city.

36. Which of the following is the best English translation of the phrase “puaAAov i Tov pRtopa”?
a. more like the orator b. mostly rhetorical
c. more than rhetoric d. more than the orator

37. What mood is the verb form iLetto?
a. indicative b. subjunctive C. optative d. imperative

38. Which of the following is the genitive dual form of €pyov?
a. Epyw b. €pyowv c. €pyoLg d. €épyw



39. What type of subordinate clause is illustrated in the sentence: “€pwtioet’ €l EUpNIdNG
codOG EoTv.”?
a. result b. conditional c. indirect question d. purpose
40. Which of the following is the best English translation for the sentence: “nétepog Up@V ToUT
€nolwnoev;”?
a. How many of you did this?

c. Which one of you did this?

b. Which of you has done this?
d. How many of you have done that?

Section V: Reading Comprehension — Answer the following questions based on the given

passage below.
Euphiletus’ Relationship with His Wife

€yw Tolvuv € apxfic LUV anavta érmdeifw Ta épautol mpaypata, oUSEY 1
napoAsimwy, AAAA Aéywv TAANBT: TalTnV yap ELauT® Hovnv nyolpot

owtnpiav, éav LIV einelv dmavta uvnB® T MeEMpaypéva. £ym yap, W ABnvaio,
Emeldn €60&€ poL yijpal kat yuvaika nyoyopnyv €ig tTAv oikiav, TOV pev GAAov

Xpovov oUtw Slekeipnv Wote prite AUmelv prte Alav € ékelvn elvan & T &v 5
£0EAN TOLELY, EDUAATIOV TE WC OLOV TE NV, KAL TIPOOETXOV TOV VOUV WOTEP EIKOC AV.
€neldn &€ pot madiov yiyvetal, éniotevov /6N kal mavta ta époautol €kelvn
TAPESWKA, YOUIEVOC TAUTNV OLKELOTNTA LEYIOTNV EVAL: €V HEV OV TG) TIPWTW
XpOvw, ® ABnvaliol, mTao®v AV BeATiotn: Kal yap oikovopog Sewvi Kot GetSwAOC
ayaBn kal akplB®g avra dotkoloa: £meldn 6€ poL n uAtnp €teAevTnoE, 10
TAVTWV TV Kak®v anobavoloa aitia pot yeyévntoad.

Vocabulary help:
1 Ttoivdv: therefore
GG = Mag

7 RoN: by this time, already
8 mapadidwput: hand over

4 &nedn: when, after
Yapéw: marry, wed

gmbdeikvupL: show, lay out 5 &uakepal: be disposed

npAyua, -pata, to: fact

Aumtéw: vex, annoy, grieve

oiKLotNG, -NTog, N: intimacy

9 PBéAtiotog, -n, -ov: best

2 mapaleinw: leave out, omit Alav: too, exceedingly oikovopocg, 6/1: homemaker
nyéopat: believe, suppose €0£Aw: want, wish, be willing deldwAog, -ov: thrifty, frugal
3 owtnpia, -ag, n: safety, duldttw: guard, watch over 10 akpBig: neatly, precisely

security, salvation
€inelv = “to say”
Suvapatl: be able, be strong
npattw: do, accomplish

MPOGEXW TOV voiv: turn
one’s mind to, pay
attention to, take heed

€iKkag, -n, -ov: reasonable, fair

SloKEW: manage
TeEAEVUTAW: pass away

11 aitia, -ag, R: cause, reason

yiyvopat: become



41. According to lines 1-2, Euphiletus is going to leave what out of the story he tells?
a. the truth b. everything c. nothing d. himself

42. According to Euphiletus, what of his is at stake in telling a truthful story? (lines 2-3)
a. his marriage b. his salvation c. himself d. everything

43. What type of conditional is illustrated in lines 2-3: “Tadtnv yap €uaut® povnv nyodpot
cwtnpiav, £éav VULV inelv anavrta SuvnO® ta nenpayuéva.”?

a. present general b. future more vivid c. future less vivid  d. past contrafactual

44. tov aAAov xpovov (lines 4-5) is accusative because it is:

a. the direct object of Siekeiunv. b. being used in a double accusative
c. in apposition to TRv oikiav. d. a duration/extent of time.

45. The person and voice of €8£€An (line 6) is:
a.second & active  b. third & active c. second & passive d. third & passive

46. The best translation of “e¢ otdv te Av” (line 6) is:
a.as much as | can b. as much as is possible
c. as much as was possible d. as was of that sort

47. What made Euphiletus trust his wife whole-heartedly? (line 7)
a. She bore him a child. c. She moved in to his house.
b. She did as he wished. d. She was a great homemaker.

48. What case and use is mag®v (line 9)?
a. objective genitive b. genitive, possession
c. accusative, adverbial d. partitive genitive

49. The possessive gpautod (line 7) is modifying:
a. awdiov (line 7) b. mavta (line 7) c. ékelvn (line 7) d. oikiotnta (line 8)

50. What, according to Euphiletus, is the cause of all his misfortunes? (line 10-11)
a. the death of his mother b. the death of his wife
c. his wife divorcing him d. his mother’s meddlesomeness



